Complete the sentences. Match
1-5 with A-E.

3 The first buses were already running
in 1829, ...

4 In the old days people went to live in
the suburbs, .

5 Nowadays people usually go by car,

A and they have doors at the back, too.
B although it’s bad for the environment.
C and a mini underground train.

D and they used to go to work by train.
E but they were only for rich people.

F although we didn’t have much time.

a
__Gram

Bl Write negative (X) and positive
(V') sentences. Use the verb use

to.
‘ People in the 18th century ... \
0 drive / Ahdnt use to drive. .
speedboats ) . speedibo; B e
1 have/mobile |, _ |
phones @) o
2 play/cricket | .o,
p y (/) -------------------------------
3drink/cola | .,
(X) -------------------------------
45ing/S0NZS | | e,
together vy
5 fly/space | (|,
shuttles @O
6 travel /bysteam | | ...
train ! (v o

New Friends 4 Tests

A Circle the correct words.

0 I had to brush my teeth. My Dad
Gnade me>/ let me brush my teeth.

1 You don’t have a garden. You have to /
don’t have to take your dog for walks.

2 We couldn’t watch that film. Mum
didn’t let / didn’t make us watch it.

3 It’s not finished yet. You will have to /
mustn’t finish it tomorrow.

4 It’s eight o’clock now, and I go to school
at 10.30. I don’t have to / must hurry.

5 I hate Mozart. My sister makes / lets me
listen to Mozart every day!

6 Don’t open the window! It mustn’t /
has to be open when we are driving.

[

Circle the correct answer — A, B

or C.

0 My sister
teeth.
A must (B)mustn’t € has to
1 When we lived in the country I
walk to school.

eat sweets. She’s got bad

A had to B must C have to
21 . see this film. It’s a big hit.

A mustn’t B can’t C must
3 Jill’s parents . her have a pet.

A let B must C hadto

4 In the future people . use bicycles
more. There’s too much traffic.
A have to B will have to
C mustn’t
5 Did you . go to school on Saturday?
A must B haveto C hadto
6 eat it, Mum! I hate sea food.
A I mustn’t B Don’t make me
C Don’t let me

7 me watch this film, please.

A Must B Make C Let
8 His dad doesn’t him eat spinach.
A make B must C can

I 8

TOTAL 40 POINTS
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